Problems for Chapter 15
1.
(slide 9) Suppose homeowners owe $600 billion in mortgage loans:

a) If the mortgage interest rate is 6%, approximately how much are homeowners     paying in annual mortgage interest?

b) If the interest rate rises to 8% in anticipation of rising inflation, by how much will annual interest payments increase?

c) What is the likely impact on homeowners’ consumption?

2.
(slide 18) The following data describe market conditions:


Money supply (in billions)

$25
$50
$75
$100
$125
$150



Interest rate


 
7.0
6.5
6.0
5.5
5.0
5.0

Rate of investment (in billions)
$9
$9
$10
$11
$12
$12


a) At what rate of interest does the liquidity trap emerge?


B) At what rate of interest does investment demand become totally inelastic?

3.
Suppose that an economy is characterized by 


M = $ 7500 billion


V = 2


P = 150


a) What is the real value of output (Q)?

Now assume that the Fed decreases the money supply by 20% and velocity remains unchanged.


b) If the price level remains constant, what will happen to real output?

c) If, instead, real output is fixed at the natural level of unemployment, what will happen when M decreases?


d) By how much would V have to rise to offset the decline in M

4.
(slide 31) Using the values of M, V, and P from the previous question, let us assume that the Federal Open Market Committee decides to buy $200 billion of government securities. If one were an extreme monetarist, what would be the theoretical outcome of this on the price level?

5.
(slide 29) If the nominal interest is 7 percent and the real rate of interest is 2 percent, what rate of inflation is anticipated?







